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1)2x*+x-8=0
x=18, x=-2.3
2)3x*+5x+1=0
x=-02,x=-14
3)x*-x-10=0
x=3.7,x=-2.7
4)4x* + 3 = -9x
x=-04,x=-1.8
5)6x* +22x+19=0
x=-14,x=-2.3
6)x*+ 3x =6
x=14,x=-44
7)3x* 4+ 1 = 7x
x=22,x=0.2
8)2x*+11x+4=0
x=-04,x=-5.1
9)4x* 4+ 5x =3
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x=04,x=-1.6
10)4x* =9x -4
x=1.6,x=0.6
11)7x° = 2 - 3x
x=0.4,x=-0.8
12)5x*-10x+1=0
x=1.9 x=-0.1
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13)x*-6x+10=0
A=-6
s> Jol> 2250 Y
14)2x* - 12x = -18
A=0
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15)-5x*+8x +9=0
A =244
Olalize Oldss> VN> 229

aiy ol Lzl cuw lg rai o sl Jlasiwl il loo alslre JS Jol
16)x* + 4x = 15
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=19, x=-2+19 (x + 2)°
17)9x*-49 = 0
5 50l e &Y il 3Rl = d
x = £73x* = 499
18)x* + 4x - 60 = 0
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(x-6)(x+10)=0,x=-10,x=6
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x = 3.3cm

X=23.2m
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